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Backtracking

find solution(s)
if s is solved position return []

for every possible move m
—update s to reflect move m _5 .l a cpy of < & . L
éc v
solution = find solution(s) g/ M#} CF, v im
if solution is not NIL
return [m] + solution
else

- undo move m in s (dovt nued vado :‘( made A C°,>7>
return NIL
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Nim
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Start with rows of ny, n, ..., ni stones ol 1|
On each turn, take as many stones as you wish from one row-—‘—o—oeJo— olo}
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If no possible moves, you lose (last move wins)
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Ez-s Nim
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Start with one rows of n stones m \S qps- 6 7 ¥ S (01 (T (R

On each turn, take as 1, 2, or 3 stones one row 'P N (\} N P(\} N [\I P N N N P (\}

If no possible moves, you lose (last move wins)
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Start with three rows of nj, ny, ..., nx stones
On each turn, take as 1, 2, or 3 stones one row

If no possible moves, you lose (last move wins)
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